
 
 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

Easter Joke Multiplication 
Code Breaker 

To find the punch line to the Easter joke, work out the calculation for each question. Next, use 
the grid to find the letter that corresponds with each answer and write it in the egg. Then crack 
the code. The first one has been done for you. 

Question: Why do you never see dinosaurs at Easter? 
 

 
1. 3 x 6 = 18 T 9. 3 x 10 =    

2. 9 x 8 =    10. 5 x 6 =    

3. 2 x 8 =    11. 7 x 6 =    

4. 4 x 7 =    12. 9 x 2 =    

5. 7 x 8 =    13. 8 x 4 =    

6. 8 x 3 =    14. 3 x 9 =    

7. 4 x 4 =    15. 9 x 7 =    

8. 8 x 2 =    16. 3 x 6 =    
 
 
 

Answer 16 42 27 28 56 18 32 30 24 72 63 

Letter E S N Y A T I G R H C 

 

Answer: 
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